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TR 2546 AXKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAROD 26,590 34,628 36,996 71,624 BAANEFRAQ 26,574 34,647 37,002 71,649
SNEAERAO 189 228 238 466 SNEAERAO 187 227 238 465
KENMAB 26,779 34,856 37,234 72,090 KENHAB 26,761 34,874 37,240 72,114
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,055 1,433 1,414 2,847 B — Al =2 253 307 339 646 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 787 906 946 1,852 . ¥ /N 122 163 174 337 HWmE—TH 794 898 1,000 1,898 wu&aE—THB 0 0 0 0
2 HT 75 Hh 15 PN ] 202 211 232 443 =H 111 148 156 304 WME-TH 556 677 756 1,433 WIUE=THB 0 0 0 0
ZA T B Hh 3 N 868 1,003 1,073 2,076 A T S B 70 91 106 197 WE=TH 264 333 388 721 WILE=TH 0 0 0 0
TR s TR 1,007 1,235 1,363 2,598 pN:5 194 241 242 483 WEMTH 198 260 290 550 WILEMTHB 0 0 0 0
T/ E i H/E 47 564 601 1,165 ETEFE 18 27 29 56 WEATH 770 1,045 1,155 2,200 BWILERTHB 0 0 0 0
K2 A EELW 193 229 276 505 FAFTET 170 173 214 387 FENARTH 89 118 122 240 WILEARTE 0 0 0 0
ma 106 163 156 319 T Hh i FhTET 125 142 157 299 W&EtTH 185 253 265 518 wWLUEtTH 51 70 78 148
T 3 Hh 32k iR 256 321 367 688 At FET 131 175 166 341 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 94 104 142 246 Fa ET 173 217 263 480 HEEZTH 221 308 312 620 WILEATE 0 0 0 0
KE 823 971 986 1,957 iclii) 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 0 0 0 0
At 2 FE #hiz ZE 445 519 519 1,038 o = Hhizk HRET 35 33 48 81 HESDMTH 0 WLE+—TH 0 0 0 0
ot B st i 159 193 188 381 BRHET 104 117 134 251 HESRTH 277 344 389 733 BWuE+=TH 0 0 0 0
i) i 186 221 230 451 % 79 77 104 181 HEBARTH 173 233 248 481 BWUE+=TH 0 0 0 0
FEE g He 2,856 3,584 3,976 7,560 RifiFE 139 163 192 355 HEELTH 339 402 444 846 INET 51 70 78 148
HZE A Hhis HES 1,659 2,074 2,277 4,351 AR o ERE—TH 52 58 72 130 HES/NTH 379 494 536 1,030 =1 11,130 15,430 16,269 31,699
ARGt KZNE1~4TH 783 1,000 1,098 2,098 BRE=TH 284 337 373 710 HMESNLTH 260 283 336 619
a2 & Ki2)I185~9T B 1,492 2,347 2,361 4,708 ERE=TH 43 64 68 132 AZN&—TH 341 422 465 887
W R A thig MWERE 2,139 3,168 3,252 6,420 il 63 63 73 136 KEZJNEZTH 101 126 139 265
XA iz HmxEA 2,150 3,187 3,227 6,414 Wzt 37 25 40 65 KEINEBZ=ZTHE 341 452 494 946
LA Hh i wIlE 51 70 78 148 it 39 52 57 109 KZJNEMTH 0
=11 17,782 23,503 24,762 48,265 hnyE R ER iz INGE 59 59 66 125 KENEBEETHE 240 407 391 798
INST 81 80 82 162 KZNEBATHE 561 821 816 1,637 (FH)
AARAERHE- A O£ (IHILEE) §4 5 84 90 108 198 R2NEETH 327 507 522 1,029 X5 s 4 5 % i
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T E i MTE 648 878 914 1,792 HRIR Hhig H 32 38 43 81 MREMTH 263 366 394 760 mAMmXEaNTH 164 198 209 407
HEF 60 62 90 152 BRI 64 70 92 162 MWRERTH 254 395 404 799 mmEaetTH 149 191 214 405
=58 deiAT R 132 184 198 382 IhEF 72 86 99 185 MWMEENRTH 291 418 425 843 mmxa/\TH 183 233 247 480
B 223 354 383 737 mp 36 47 54 101 MWREETH 262 400 411 811 mAMXaEATH 186 221 243 464
e 46 47 71 118 B3 4 38 4 50 91 MWRE/NTH 220 296 329 625 mmEae+THE 184 217 234 451
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IRt &R i £33 75 102 132 234 N 5 6 5 11 BEXE=TH 330 532 537 1,069 mmEae+=TH 154 188 203 391
tiRa 54 74 84 158 CiEgN 32 48 47 95 HwEEMTH 266 410 438 848 mEmnEE+mTH 120 156 176 332
a5 98 140 142 282 BTF 20 30 27 57 BEERTH 339 529 557 1,086 mAnEae+aETH 135 184 170 354
J:5§6 147 182 200 382 4 2 ik ETFF 15 22 22 44 BESNATH 299 499 495 994 =X 2,357 2,922 3,137 6,059
+IR7 66 90 86 176 = 10 13 12 25 mEELtTH 279 354 344 698
LRt ithig EIA8 96 126 127 253 =2E 9 7 11 18 wmEE/NTH 0 0 0 0
ti¥a9 113 140 159 299 i35 6 6 5 11 INET 11,079 15,360 16,191 31,551
tJR10 89 113 134 247 PNy i 14 11 17 28
WEXN 26 26 24 50 it 30 44 50 94
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